

## Oscillatory solutions of functional differential equations generated by deviation of arguments of mixed type

A. F. IVANOV<sup>1)</sup>, Y. KITAMURA<sup>2)</sup>, T. KUSANO<sup>3)</sup> and V. N. SHEVELO<sup>1)</sup>

(Received May 6, 1982)

### 1. Introduction

In this paper we consider the higher order functional differential equation of the form

$$(E) \quad x^{(n)}(t) + F(t, x(t), x(g_1(t)), \dots, x(g_N(t)), \dots, x^{(n-1)}(t), \dots, x^{(n-1)}(g_N(t))) = 0$$

and its particular cases

$$(A) \quad x^{(n)}(t) - \sum_{h=1}^N p_h(t) f_h(x(g_h(t))) = 0,$$

$$(B) \quad x^{(n)}(t) + \sum_{h=1}^N p_h(t) f_h(x(g_h(t))) = 0,$$

where the deviating arguments  $g_h(t)$  are of general type.

It is assumed that the function  $F(t, u_0, \dots, u_N, u_0^{(1)}, \dots, u_N^{(n-1)})$  satisfies either the condition

$$(1) \quad F(t, u_0, \dots, u_N, u_0^{(1)}, \dots, u_N^{(1)}, \dots, u_N^{(n-1)}) u_0 \geq 0$$

or the condition

$$(2) \quad F(t, u_0, \dots, u_N, u_0^{(1)}, \dots, u_N^{(1)}, \dots, u_N^{(n-1)}) u_0 \leq 0$$

in the domain

$$\Omega = \{(t, u_l^{(q)}) : t \in [a, \infty), u_0 u_l > 0, 0 \leq l \leq N, 0 \leq q \leq n-1\}.$$

By a *proper solution* of equation (E) we mean a function  $x \in C^n[[T_x, \infty), R]$  which satisfies (E) for all sufficiently large  $t$  and  $\sup\{|x(t)| : t \geq T\} > 0$  for any  $T \geq T_x$ . We make the standing hypothesis that equation (E) does possess proper solutions. A proper solution of (E) is called *oscillatory* if it has arbitrarily large zeros; otherwise the solution is called *nonoscillatory*.

When equation (E) is ordinary ( $g_i(t) \equiv t, 1 \leq i \leq N$ ), the oscillatory properties of (E) satisfying (1) are essentially different from those of (E) satisfying (2). In case (1) holds, the "property A" is typical for equation (E): if  $n$  is even, then all proper solutions are oscillatory, and if  $n$  is odd, then every proper solution is either oscillatory or monotonically tending to zero as  $t \rightarrow \infty$ . On the other hand, when (2) holds the "property B" is typical: if  $n$  is even, then every solution is either oscillatory or else tending monotonically to infinity or to zero as  $t \rightarrow \infty$ , and if  $n$

is odd, then every solution is either oscillatory or tending monotonically to infinity as  $t \rightarrow \infty$ .

In many cases the same situation is typical for retarded equations of the form (E)  $(g_i(t) \leq t, 1 \leq i \leq N)$ . For standard results in this direction the reader is referred to the book [1].

Oscillatory properties of solutions of functional differential equations with deviating arguments of mixed type are in general essentially different from those of ordinary and retarded differential equations. The first results on oscillation of first order functional differential equations generated by deviation of arguments of general type were independently obtained in the papers [2, 3, 4]. One of the coauthors of the present paper seems to be the first to have discovered that all proper solutions of higher order functional differential equations involving both retarded and advanced arguments may be oscillatory [5]. He showed that all proper solutions of the even order equation

$$(3) \quad x^{(n)}(t) - p^n x(t+n\sigma) - q^n x(t-n\tau) = 0$$

are oscillatory provided the positive constants  $p, q, \sigma$  and  $\tau$  satisfy  $p\sigma > 1$  and  $q\tau > 1$ , and that the same is true of the equation

$$x^{(n)}(t) - p|x(t+\sigma)|^\alpha \operatorname{sgn} x(t+\sigma) - q|x(t-\tau)|^\beta \operatorname{sgn} x(t-\tau) = 0$$

for any positive constants  $p, q, \alpha, \beta, \sigma$  and  $\tau$  such that  $\alpha > 1$  and  $0 < \beta < 1$ . (Note that the odd order case of (3) has been studied by Ladas and Stavroulakis [6].)

Some results on oscillation of functional differential equations with general deviating arguments can be found in the papers [7, 8, 9].

Here we deal mainly with equations (A) and (B). Throughout the paper we assume the following conditions to hold:

$$(A) \quad p_h, g_h \in C[[a, \infty), R], p_h(t) \geq 0, \lim_{t \rightarrow \infty} g_h(t) = \infty, 1 \leq h \leq N;$$

$$(B) \quad f_h \in C[R, R] \text{ and } u f_h(u) > 0 \text{ for } u \neq 0, 1 \leq h \leq N.$$

Under additional assumptions on the nonlinearity of  $f_h$  we give explicit conditions under which all proper solutions of equations (A) and (B) are oscillatory. As a consequence we are able to see that there is a class of functional differential equations with a single deviating argument, all proper solutions of which are oscillatory.

## 2. Main Results

Let  $g_h(t), 1 \leq h \leq N$ , be fixed. We define the subsets  $\mathcal{A}_h$  and  $\mathcal{B}_h$  of  $[a, \infty)$  as follows:

$$\mathcal{A}_h = \{t \in [a, \infty) : g_h(t) > t\}, \quad \mathcal{B}_h = \{t \in [a, \infty) : g_h(t) < t\}.$$

$\mathcal{A}_h$  and  $\mathcal{B}_h$  are the sets on which the deviating argument  $g_h(t)$  is advanced and retarded, respectively.

The following four theorems are the main results of the present paper.

**THEOREM 1.** *Let  $n \geq 3$  be odd. Suppose that there are integers  $i, j$  and  $k$ ,  $1 \leq i, j, k \leq N$ , and a positive number  $M$  such that the following conditions are satisfied:*

$$(4) \quad \int_{\mathcal{A}_i} [g_i(t) - t]^{n-1} p_i(t) dt = \infty;$$

$$(5) \quad \int_{\mathcal{A}_j} t^{n-2} [g_j(t) - t] p_j(t) dt = \infty;$$

$$(6) \quad \int_{\mathcal{A}_k} t^{n-1} p_k(t) dt = \infty;$$

$f_h(u)$  is monotonically increasing for  $|u| \geq M$  and

$$(7) \quad \int_M^\infty \frac{du}{f_h(u)} < \infty, \quad \int_{-M}^{-\infty} \frac{du}{f_h(u)} < \infty, \quad h = i, j, k.$$

Then all proper solutions of (A) are oscillatory.

**THEOREM 2.** *Let  $n$  be even. Suppose that there are integers  $i$  and  $j$ ,  $1 \leq i, j \leq N$ , and a positive number  $M$  such that the conditions (4), (5) and (7) for  $h = i, j$  of Theorem 1 are satisfied. In addition suppose that there are an integer  $k$ ,  $1 \leq k \leq N$ , and a positive number  $m$  such that*

$$(8) \quad \int_{\mathcal{B}_k} [t - g_k(t)]^{n-1} p_k(t) dt = \infty;$$

$f_k(u)$  is monotonically increasing for  $|u| \leq m$  and

$$(9) \quad \int_{+0}^m \frac{du}{f_k(u)} < \infty, \quad \int_{-0}^{-m} \frac{du}{f_k(u)} < \infty.$$

Then all proper solutions of (A) are oscillatory.

**THEOREM 3.** *Let  $n$  be even. Suppose that there are integers  $i$  and  $j$ ,  $1 \leq i, j \leq N$ , and a positive number  $M$  such that the following conditions are satisfied:*

$$(10) \quad \int_{\mathcal{A}_i} t^{n-2} [g_i(t) - t] p_i(t) dt = \infty;$$

$$(11) \quad \int_{\mathcal{A}_j} t^{n-1} p_j(t) dt = \infty;$$

$f_h(u)$  is monotonically increasing for  $|u| \geq M$  and

$$(12) \quad \int_M^\infty \frac{du}{f_h(u)} < \infty, \quad \int_{-M}^{-\infty} \frac{du}{f_h(u)} < \infty, \quad h = i, j.$$

Then all proper solutions of (B) are oscillatory.

**THEOREM 4.** Let  $n \geq 3$  be odd. Suppose that there are an integer  $i$ ,  $1 \leq i \leq N$ , and a positive number  $M$  such that the conditions (10) and (12) for  $h=i$  of Theorem 3 are satisfied. In addition suppose that there are an integer  $k$ ,  $1 \leq k \leq N$ , and a positive number  $m$  such that

$$(13) \quad \int_{\mathcal{A}_k} [t - g_k(t)]^{n-1} p_k(t) dt = \infty;$$

$f_k(u)$  is monotonically increasing for  $|u| \leq m$  and

$$(14) \quad \int_{+0}^m \frac{du}{f_k(u)} < \infty, \quad \int_{-0}^{-m} \frac{du}{f_k(u)} < \infty.$$

Then all proper solutions of (B) are oscillatory.

Let us now consider the following equations which are particular cases of equations (A) and (B):

$$(C) \quad x^{(n)}(t) - p(t)f(x(g(t))) = 0,$$

$$(D) \quad x^{(n)}(t) + p(t)f(x(g(t))) = 0.$$

We suppose that  $p, q \in C[[a, \infty), R]$ ,  $p(t) \geq 0$ ,  $\lim_{t \rightarrow \infty} g(t) = \infty$ ,  $f \in C[R, R]$  and  $uf(u) > 0$  for  $u \neq 0$ . Let  $\mathcal{A}, \mathcal{B} \subset [a, \infty)$  be the sets on which the deviating argument  $g(t)$  is advanced and retarded, respectively, that is,

$$\mathcal{A} = \{t \in [a, \infty) : g(t) > t\}, \quad \mathcal{B} = \{t \in [a, \infty) : g(t) < t\}.$$

The following corollaries are immediate consequences of Theorems 1–4. They show that in some cases the presence of a single deviating argument of mixed type is sufficient to force all proper solutions of a functional differential equation to oscillate.

**COROLLARY 1.** Let  $n \geq 3$  be odd and there exists a positive number  $M$  such that  $f(u)$  is monotonically increasing for  $|u| \geq M$  and

$$\int_{\mathcal{A}} [g(t) - t]^{n-1} p(t) dt = \infty;$$

$$\int_{\mathcal{B}} t^{n-2} [g(t) - t] p(t) dt = \infty;$$

$$\int_{\mathcal{A}} t^{n-1} p(t) dt = \infty;$$

$$\int_M^{\infty} \frac{du}{f(u)} < \infty, \quad \int_{-M}^{-\infty} \frac{du}{f(u)} < \infty.$$

Then all proper solutions of (C) are oscillatory.

COROLLARY 2. Let  $n$  be even and there exist positive numbers  $M, m$  such that  $f(u)$  is monotonically increasing for  $|u| \geq M, |u| \leq m$  and

$$\int_{\mathcal{A}} [g(t) - t]^{n-1} p(t) dt = \infty;$$

$$\int_{\mathcal{A}} t^{n-2} [g(t) - t] p(t) dt = \infty;$$

$$\int_{\mathcal{A}} [t - g(t)]^{n-1} p(t) dt = \infty;$$

$$\int_M^{\infty} \frac{du}{f(u)} < \infty, \quad \int_{-M}^{-\infty} \frac{du}{f(u)} < \infty;$$

$$\int_{+0}^m \frac{du}{f(u)} < \infty, \quad \int_{-0}^{-m} \frac{du}{f(u)} < \infty.$$

Then all proper solutions of (C) are oscillatory.

COROLLARY 3. Let  $n$  be even and there exists a positive number  $M$  such that  $f(u)$  is monotonically increasing for  $|u| \geq M$  and

$$\int_{\mathcal{A}} t^{n-2} [g(t) - t] p(t) dt = \infty;$$

$$\int_{\mathcal{A}} t^{n-1} p(t) dt = \infty;$$

$$\int_M^{\infty} \frac{du}{f(u)} < \infty, \quad \int_{-M}^{-\infty} \frac{du}{f(u)} < \infty.$$

Then all proper solutions of (D) are oscillatory.

COROLLARY 4. Let  $n \geq 3$  be odd and there exist positive numbers  $M, m$  such that  $f(u)$  is monotonically increasing for  $|u| \geq M, |u| \leq m$  and

$$\int_{\mathcal{A}} t^{n-2} [g(t) - t] p(t) dt = \infty;$$

$$\int_{\mathcal{A}} [t - g(t)]^{n-1} p(t) dt = \infty;$$

$$\int_M^{\infty} \frac{du}{f(u)} < \infty, \quad \int_{-M}^{-\infty} \frac{du}{f(u)} < \infty;$$

$$\int_{+0}^m \frac{du}{f(u)} < \infty, \quad \int_{-0}^{-m} \frac{du}{f(u)} < \infty.$$

Then all proper solutions of (D) are oscillatory.

EXAMPLE 1. By Theorems 1–4 all proper solutions of the equations  $x^{(n)}(t) - p|x(t + \sin t)|^\alpha \operatorname{sgn} x(t + \sin t) - q|x(t - \sin t)|^\beta \operatorname{sgn} x(t - \sin t) = 0$ ,  $x^{(n)}(t) + p|x(t + \sin t)|^\alpha \operatorname{sgn} x(t + \sin t) + q|x(t - \sin t)|^\beta \operatorname{sgn} x(t - \sin t) = 0$ , are oscillatory provided  $p > 0$ ,  $q > 0$ ,  $\alpha > 1$  and  $0 < \beta < 1$ .

EXAMPLE 2. Define the function  $f(u)$  by

$$f(u) = u^\alpha \quad (0 \leq u \leq 1), \quad f(u) = u^\beta \quad (u \geq 1), \quad f(-u) = -f(u),$$

where  $0 < \alpha < 1$  and  $\beta > 1$ . Then from Corollaries 1–4 it follows that all proper solutions of the equations

$$x^{(n)}(t) - f(x(t + \sin t)) = 0,$$

$$x^{(n)}(t) + f(x(t + \sin t)) = 0,$$

are oscillatory.

### 3. Proofs of Theorems

PROOF OF THEOREMS 1 AND 2. Let  $x(t)$  be a nonoscillatory solution of (A). Without loss of generality we may suppose that  $x(t)$  is eventually positive. From (A),  $x^{(n)}(t)$  is eventually positive, so that there is an integer  $l \in \{0, 1, 2, \dots, n\}$  such that  $l \equiv n \pmod{2}$  and

$$(15) \quad x^{(i)}(t) \geq 0, \quad 0 \leq i \leq l, \quad (-1)^{i-l} x^{(i)}(t) \geq 0, \quad l \leq i \leq n,$$

for all sufficiently large  $t$ , say  $t \geq t_0 \geq a$ . Let  $T \geq t_0$  be so large that  $g_h(t) \geq t_0$  for  $t \geq T$ ,  $1 \leq h \leq N$ .

First suppose that  $l = n$ . Then integrating (A) and using (15), we have

$$(16) \quad x'(t) = \sum_{i=1}^{n-1} \frac{(t-T)^{i-1}}{(i-1)!} x^{(i)}(T) + \int_T^t \frac{(t-s)^{n-2}}{(n-2)!} x^{(n)}(s) ds \\ \geq \int_T^t \frac{(t-s)^{n-2}}{(n-2)!} p_i(s) f_i(x(g_i(s))) ds, \quad t \geq T.$$

Take any  $T' > T$  and let  $T_i = \sup_{T \leq t \leq T'} \max \{g_i(t), t\}$ . Dividing (16) by  $f_i(x(t))$  and integrating over  $[T, T_i]$ , we obtain

$$\int_T^{T_i} \frac{x'(t)}{f_i(x(t))} dt \geq \int_T^{T_i} \frac{1}{f_i(x(t))} \int_T^t \frac{(t-s)^{n-2}}{(n-2)!} p_i(s) f_i(x(g_i(s))) ds dt$$

$$\begin{aligned}
 (17) \quad &= \int_T^{T_i} p_i(s) \int_s^{T_i} \frac{(t-s)^{n-2}}{(n-2)!} \cdot \frac{f_i(x(g_i(s)))}{f_i(x(t))} dt ds \\
 &\geq \int_T^{T'} p_i(s) \int_s^{T_i} \frac{(t-s)^{n-2}}{(n-2)!} \cdot \frac{f_i(x(g_i(s)))}{f_i(x(t))} dt ds \\
 &\geq \int_{\mathcal{A}_i \cap [T, T']} p_i(s) \int_s^{g_i(s)} \frac{(t-s)^{n-2}}{(n-2)!} \cdot \frac{f_i(x(g_i(s)))}{f_i(x(t))} dt ds.
 \end{aligned}$$

Since  $l = n \geq 3$ ,  $\lim_{t \rightarrow \infty} x(t) = \infty$  and the number  $T$  in (17) may be chosen so large that  $x(s) \geq M$  for  $s \geq T$ . Since  $f_i(x(t))$  is increasing for  $t \geq T$ ,  $f_i(x(g_i(s)))/f_i(x(t)) \geq 1$  for  $s \leq t \leq g_i(s)$ ,  $s \in \mathcal{A}_i \cap [T, T']$ . From (17) it follows that

$$\begin{aligned}
 \int_T^{T_i} \frac{x'(t)}{f_i(x(t))} dt &\geq \int_{\mathcal{A}_i \cap [T, T']} p_i(s) \int_s^{g_i(s)} \frac{(t-s)^{n-2}}{(n-2)!} dt ds \\
 &= \frac{1}{(n-1)!} \int_{\mathcal{A}_i \cap [T, T']} p_i(s) [g_i(s) - s]^{n-1} ds.
 \end{aligned}$$

Letting  $T' \rightarrow \infty$  in the above and using (7), we see that

$$\int_{\mathcal{A}_i \cap [T, \infty)} [g_i(s) - s]^{n-1} p_i(s) ds \leq (n-1)! \int_{x(T)}^{\infty} \frac{du}{f_i(u)} < \infty,$$

which contradicts (4).

Next suppose that  $2 \leq l < n$ . In view of (15) we have

$$\begin{aligned}
 (18) \quad x'(t) &= \sum_{i=1}^{l-1} \frac{(t-T)^{i-1}}{(i-1)!} x^{(i)}(T) + \int_T^t \frac{(t-s)^{l-2}}{(l-2)!} x^{(l)}(s) ds \\
 &\geq \int_T^t \frac{(t-s)^{l-2}}{(l-2)!} x^{(l)}(s) ds, \quad t \geq T,
 \end{aligned}$$

and

$$\begin{aligned}
 x^{(l)}(t) &= \sum_{i=l}^{n-1} (-1)^{i-l} \frac{(s-t)^{i-l}}{(i-l)!} x^{(i)}(s) + (-1)^{n-l} \int_t^s \frac{(r-t)^{n-l-1}}{(n-l-1)!} x^{(n)}(r) dr \\
 &\geq \int_t^s \frac{(r-t)^{n-l-1}}{(n-l-1)!} p_j(r) f_j(x(g_j(r))) dr,
 \end{aligned}$$

the latter of which yields in the limit as  $s \rightarrow \infty$

$$(19) \quad x^{(l)}(t) \geq \int_t^{\infty} \frac{(r-t)^{n-l-1}}{(n-l-1)!} p_j(r) f_j(x(g_j(r))) dr, \quad t \geq T.$$

Combining (18) with (19), we have for  $t \geq T$

$$x'(t) \geq \int_T^t \frac{(t-s)^{l-2}}{(l-2)!} \int_s^{\infty} \frac{(r-s)^{n-l-1}}{(n-l-1)!} p_j(r) f_j(x(g_j(r))) dr ds$$

$$\begin{aligned}
 (20) \quad &\geq \int_T^t \left( \int_T^r \frac{(t-s)^{l-2}(r-s)^{n-l-1}}{(l-2)!(n-l-1)!} ds \right) p_j(r) f_j(x(g_j(r))) dr \\
 &\geq \int_T^t \left( \int_T^r \frac{(r-s)^{n-3}}{(l-2)!(n-l-1)!} ds \right) p_j(r) f_j(x(g_j(r))) dr \\
 &= c(n, l) \int_T^t (r-T)^{n-2} p_j(r) f_j(x(g_j(r))) dr,
 \end{aligned}$$

where  $c(n, l)$  is a positive constant depending only on  $n$  and  $l$ . Take any  $T' > T$  and let  $T_j = \sup_{T \leq t \leq T'} \max \{g_j(t), t\}$ . We divide (20) by  $f_j(x(t))$  and integrate over  $[T, T_j]$ , obtaining

$$\begin{aligned}
 (21) \quad &\int_T^{T_j} \frac{x'(t)}{f_j(x(t))} dt \geq c(n, l) \int_T^{T_j} \frac{1}{f_j(x(t))} \int_T^t (s-T)^{n-2} p_j(s) f_j(x(g_j(s))) ds dt \\
 &= c(n, l) \int_T^{T_j} (s-T)^{n-2} p_j(s) \int_s^{T_j} \frac{f_j(x(g_j(s)))}{f_j(x(t))} dt ds \\
 &\geq c(n, l) \int_T^{T'} (s-T)^{n-2} p_j(s) \int_s^{T_j} \frac{f_j(x(g_j(s)))}{f_j(x(t))} dt ds \\
 &\geq c(n, l) \int_{\mathcal{A}_j \cap [T, T']} (s-T)^{n-2} p_j(s) \int_s^{g_j(s)} \frac{f_j(x(g_j(s)))}{f_j(x(t))} dt ds.
 \end{aligned}$$

Note that  $\lim_{t \rightarrow \infty} x(t) = \infty$ , since  $l \geq 2$ . We can take  $T$  so large that  $x(s) \geq M$  for  $s \geq M$ . Since  $f_j(x(g_j(s)))/f_j(x(t)) \geq 1$  for  $s \leq t \leq g_j(s)$ ,  $s \in \mathcal{A}_j \cap [T, T']$ , we conclude from (21) that

$$\int_{\mathcal{A}_j \cap [T, \infty)} (s-T)^{n-2} [g_j(s) - s] p_j(s) ds \leq c(n, l)^{-1} \int_{x(T)}^{\infty} \frac{du}{f_j(u)} < \infty,$$

which contradicts (5).

Now suppose that  $l = 1$ . This is possible only if  $n$  is odd. Then it follows from (19) that

$$(22) \quad x'(t) \geq \int_t^\infty \frac{(r-t)^{n-2}}{(n-2)!} p_k(r) f_k(x(g_k(r))) dr, \quad t \geq T.$$

Take any  $T' > T$  and let  $T_k = \sup_{T \leq t \leq T'} \max \{g_k(t), t\}$ . Dividing (22) by  $f_k(x(t))$  and integrating over  $[T, T_k]$ , we obtain

$$\begin{aligned}
 (23) \quad &\int_T^{T_k} \frac{x'(t)}{f_k(x(t))} dt \geq \int_T^{T_k} \frac{1}{f_k(x(t))} \int_t^\infty \frac{(r-t)^{n-2}}{(n-2)!} p_k(r) f_k(x(g_k(r))) dr dt \\
 &\geq \int_T^{T_k} p_k(r) \int_T^r \frac{(r-t)^{n-2}}{(n-2)!} \cdot \frac{f_k(x(g_k(r)))}{f_k(x(t))} dt dr \\
 &\geq \int_{\mathcal{A}_k \cap [T, T']} p_k(r) \int_T^r \frac{(r-t)^{n-2}}{(n-2)!} \cdot \frac{f_k(x(g_k(r)))}{f_k(x(t))} dt dr.
 \end{aligned}$$



If we suppose that  $\lim_{t \rightarrow \infty} x(t) = x_0 < \infty$ , then it follows from (23) that

$$\int_{\mathcal{A}_k \cap [T, \infty)} p_k(r)(r-T)^{n-1} dr \leq c(n-2)! \int_{x(T)}^{x_0} \frac{du}{f_k(u)} < \infty,$$

where  $c$  is a positive constant. But this contradicts (6), and so we must have  $\lim_{t \rightarrow \infty} x(t) = \infty$ . In (23)  $T$  may be chosen so large that  $x(t) \geq M$  for  $t \geq T$ . Then (23) yields

$$\begin{aligned} & \int_T^{T_k} \frac{x'(t)}{f_k(x(t))} dt \geq \int_{\mathcal{A}_k \cap [T, T']} p_k(r) \int_T^r \frac{(r-t)^{n-2}}{(n-2)!} \cdot \frac{f_k(x(g_k(r)))}{f_k(x(t))} dt dr \\ & \geq \int_{\mathcal{A}_k \cap [T, T']} p_k(r) \int_T^r \frac{(r-t)^{n-2}}{(n-2)!} dt dr = \frac{1}{(n-1)!} \int_{\mathcal{A}_k \cap [T, T']} p_k(r)(r-T)^{n-1} dr, \end{aligned}$$

and letting  $T' \rightarrow \infty$  and using (7), we are again led to a contradiction to (6).

Finally suppose that  $l=0$ , which is possible only if  $n$  is even. In this case we have

$$-x'(t) = \sum_{i=1}^{n-1} (-1)^i x^{(i)}(s) \frac{(s-t)^{i-1}}{(i-1)!} + \int_t^s \frac{(r-t)^{n-2}}{(n-2)!} x^{(n)}(r) dr$$

for  $s \geq t \geq T$ . Choose  $T' > T$  so that  $g_h(t) \geq T$  for  $t \geq T'$ ,  $1 \leq h \leq N$ , and let  $T^* > T'$  be fixed. Using (15) and (A), we see from the above that

$$(24) \quad -x'(t) \geq \int_t^{T^*} \frac{(s-t)^{n-2}}{(n-2)!} p_k(s) f_k(x(g_k(s))) ds, \quad T \leq t \leq T^*.$$

Dividing (24) by  $f_k(x(t))$  and integrating over  $[T, T^*]$ , we obtain

$$\begin{aligned} - \int_T^{T^*} \frac{x'(t)}{f_k(x(t))} dt & \geq \int_T^{T^*} \frac{1}{f_k(x(t))} \int_t^{T^*} \frac{(s-t)^{n-2}}{(n-2)!} p_k(s) f_k(x(g_k(s))) ds dt \\ & = \int_T^{T^*} p_k(s) \int_T^s \frac{(s-t)^{n-2}}{(n-2)!} \cdot \frac{f_k(x(g_k(s)))}{f_k(x(t))} dt ds \\ & \geq \int_{T'}^{T^*} p_k(s) \int_T^s \frac{(s-t)^{n-2}}{(n-2)!} \cdot \frac{f_k(x(g_k(s)))}{f_k(x(t))} dt ds. \end{aligned}$$

If  $\lim_{t \rightarrow \infty} x(t) = x_0 > 0$ , then from (25) we see that

$$\int_{T'}^{\infty} p_k(s)(s-T)^{n-1} ds < \infty,$$

which contradicts (8). It follows that  $\lim_{t \rightarrow \infty} x(t) = 0$ . In (25)  $T$  may be taken so large that  $x(s) \leq m$  and  $x(g_k(s)) \leq m$  for  $s \geq T$ . Noting that  $f_k(x(g_k(s)))/f_k(x(t)) \geq 1$  for  $g_k(s) \leq t \leq s$ ,  $s \in \mathcal{A}_k \cap [T', T^*]$ , we conclude from (25) that

$$\int_{\mathcal{A}_k \cap [T', \infty)} [s-g_k(s)]^{n-1} p_k(s) ds \leq (n-1)! \int_{+0}^{x(T)} \frac{du}{f_k(u)} < \infty,$$

which also contradicts (8). Thus the proof of Theorems 1 and 2 is complete.

PROOF OF THEOREMS 3 AND 4. Let  $x(t)$  be a nonoscillatory solution of (B). We may suppose without loss of generality that  $x(t)$  is eventually positive. From (B),  $x^{(n)}(t)$  is eventually negative, and so there is an integer  $l \in \{0, 1, \dots, n-1\}$  such that  $l \equiv n-1 \pmod{2}$  and

$$(26) \quad x^{(i)}(t) \geq 0, \quad 0 \leq i \leq l, \quad (-1)^{i-l} x^{(i)}(t) \geq 0, \quad l \leq i \leq n,$$

for all sufficiently large  $t$ , say  $t \geq t_0 \geq a$ . Let  $T \geq t_0$  be so large that  $g_h(t) \geq t_0$  for  $t \geq T, 1 \leq h \leq N$ .

First suppose that  $2 \leq l \leq n-1$ . Then we have

$$(27) \quad \begin{aligned} x'(t) &= \sum_{i=1}^{l-1} \frac{(t-T)^{i-1}}{(i-1)!} x^{(i)}(T) + \int_T^t \frac{(t-s)^{l-2}}{(l-2)!} x^{(l)}(s) ds \\ &\geq \int_T^t \frac{(t-s)^{l-2}}{(l-2)!} x^{(l)}(s) ds, \quad t \geq T, \end{aligned}$$

and

$$(28) \quad \begin{aligned} x^{(l)}(t) &= \sum_{i=l}^{n-1} (-1)^{i-l} \frac{(s-t)^{i-l}}{(i-l)!} x^{(i)}(s) + (-1)^{n-l} \int_t^s \frac{(r-t)^{n-l-1}}{(n-l-1)!} x^{(n)}(r) dr \\ &\geq \int_t^s \frac{(r-t)^{n-l-1}}{(n-l-1)!} p_i(r) f_i(x(g_i(r))) dr, \quad s \geq t \geq T. \end{aligned}$$

Combining (27) with (28) yields inequality (20) and the subsequent proof proceeds exactly as in the corresponding part of the proof of Theorems 1 and 2.

Next suppose that  $l=1$ , which is possible only if  $n$  is even. From (28) we then have

$$x'(t) \geq \int_t^\infty \frac{(r-t)^{n-2}}{(n-2)!} p_j(r) f_j(x(g_j(r))) dr, \quad t \geq T,$$

wherefrom the proof is the same as in the corresponding part of the proof of Theorems 1 and 2.

Finally we consider the case where  $l=0$ . Note that this is possible only if  $n$  is odd. From the equation

$$-x'(t) = \sum_{i=1}^{n-1} (-1)^i x^{(i)}(s) \frac{(s-t)^{i-1}}{(i-1)!} - \int_t^s \frac{(r-t)^{n-2}}{(n-2)!} x^{(n)}(r) dr$$

and in view of (26) and (B) we obtain

$$-x'(t) \geq \int_t^{T^*} \frac{(s-t)^{n-2}}{(n-2)!} p_k(s) f_k(x(g_k(s))) ds$$

for  $T \leq t \leq T^*$ , where  $T^*$  is sufficiently large. Thus we have obtained inequality

(24) and from this point on the proof is entirely the same as in the corresponding proof of Theorems 1 and 2. This completes the proof of Theorems 3 and 4.

4. We conclude with the remark that the results obtained for equations (A) and (B) may easily be extended to more general equations of the form (E). For instance, in case  $n$  is even, if we assume that the function  $F(t, u_0, \dots, u_N, u_0^{(1)}, \dots, u_N^{(n-1)})$  satisfies the inequality

$$F(t, u_0, \dots, u_N, u_0^{(1)}, \dots, u_N^{(n-1)}) \operatorname{sgn} u_h \geq p_h(t) f_h(u_h) \operatorname{sgn} u_h, \quad h = i, j,$$

in the domain  $\Omega$  and that the functions  $p_h(t)$  and  $f_h(u)$  satisfy the conditions of Theorem 3, then we conclude that all proper solutions of (E) are oscillatory. Theorems 1, 2 and 4 allow similar generalizations.

### References

- [1] V. N. Shevelo, Oscillation of Solutions of Differential Equations with Deviating Arguments, Naukova Dumka, Kiev, 1978. (Russian)
- [2] Y. Kitamura and T. Kusano, Oscillation of first-order nonlinear differential equations with deviating arguments, *Proc. Amer. Math. Soc.* **78** (1980), 64–68.
- [3] V. N. Shevelo and A. F. Ivanov, On the asymptotic behavior of solutions of a class of first order differential equations with deviating argument of mixed type, *Asymptotic Behavior of Functional Differential Equations*, pp. 145–150, Kiev, 1978. (Russian)
- [4] A. F. Ivanov and V. N. Shevelo, On oscillation and asymptotic behavior of solutions of first order functional differential equations, *Ukrain. Mat. Ž.* **33** (1981), 745–751. (Russian)
- [5] T. Kusano, On even order functional differential equations with advanced and retarded arguments, *J. Differential Equations* (to appear).
- [6] G. Ladas and I. P. Stavroulakis, Oscillations of differential equations of mixed type, (to appear).
- [7] V. A. Staikos, Basic results on oscillation for differential equations with deviating arguments, *Hiroshima Math. J.* **10** (1980), 495–516.
- [8] J. Werbowski, On asymptotic behavior of solutions of differential equations generated by deviating arguments, (to appear).
- [9] J. Werbowski, On oscillatory behavior of solutions of differential equations generated by deviating arguments, (to appear).

<sup>1</sup>*Institute of Mathematics,  
Ukrainian Academy of Sciences,  
Repin Str. 3, Kiev-4, U.S.S.R.*

<sup>2</sup>*Department of Mathematics,  
Faculty of Education,  
Nagasaki University*

<sup>3</sup>*Department of Mathematics,  
Faculty of Science,  
Hiroshima University*

